

Available online at www.qu.edu.iq/journalcm

JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS

ISSN:2521-3504(online) ISSN:2074-0204(print)



On Differential and Integration of g-g-Transformation

Tiba Maytham fadhil ^{a,} Assist.Prof. Dr. Methaq Hamza Geem^b

a.b.Iraq.Al Qadisiyah university . Education College . Mathematics Department, Methaq.Geem@qu.edu.Iq

ARTICLE INFO

Article history:
Received: 17 /06/2022
Rrevised form: 13 /07/2022
Accepted: 22 /07/2022

Accepted: 22 /07/2022 Available online: 12 /08/2022

Keywords:

differential equation, integral transform, g-transform, convolution theorem, inverse integral transform.

ABSTRACT

In this work we present an integral transform, namely g-g-transform and defined as:

$$g \Big(f(x) \Big) = p(s)^m \int\limits_0^\infty f(x) e^{-q(s)^n x} \ dx \quad \text{, } p(s) \neq 0 \ \text{, } q(s) > 0 \text{ or } n \text{ even positive integrer}$$

This transformation consider generalized for g-transformation which defined as:

$$g(f(x)) = p(s) \int_0^\infty e^{-q(s)x} f(x)dx$$
, $p(s) \neq 0$, $q(s) > 0$

We study differential and integration of this transformation. Also we find the inverse of this transformation by using g-g-transformati of integration . we use differential of g-g-transformation for finding g-g-transformation of some function of the form $x^k f(x)$.

MSC..44-XX

https://doi.org/10.29304/jqcm.2022.14.3.994

1. Introduction:

The method of integral transformations is widely used in the classical sections of mathematical physics, in the theory of differential equations, integral equations, in the theory automatic regulation and control, in the theory of queuing and other areas,[4],[11].

There are various types of such transformations: the Fourier transform, Laplace, Hankel, Meyer, Kontorovich-Lebedev series others. We confine ourselves to considering the integral Laplace transforms, [6],[8],[10].

*Corresponding author

Email addresses:

Communicated by 'sub etitor'

The most important property of the integral transform is that the operations differentiation in the space of the originals corresponds to the operation of image multiplication to the operational variable s. This property allows us to replace the solution of differential equations to solve algebraic ones, which is much simpler.

In [9], H.Jafari introduce a new integral transformation as generalized for many integral transformation like Laplace transformation, Fourier transformation and others. He define it as the following:

$$g(f(x)) = p(s) \int_0^\infty e^{-q(s)x} f(x)dx$$
, $p(s) \neq 0$, $q(s) > 0$

in this work we generalize g-transformation by introducing a g-g-transformation and we define as:

$$g\big(f(x)\big) = p(s)^m \int\limits_0^\infty f(x) e^{-q(s)^n x} \, dx \quad , p(s) \neq 0 \ , q(s) > 0 \ \text{or n even positive integrer}$$

2. g-g-trans formation:

2.1 Definition:

g-g-transform for a function f(x) where $x \in [0, \infty]$ is defined as:

$$g(f(x)) = p(s)^m \int_0^\infty f(x)e^{-q(s)^n x} dx$$
, $p(s) \neq 0$, $q(s) > 0$ or n even positive integrer

2.2 Examples:

$$g - g(1) = (p(s))^m \int_0^\infty e^{-(q(s))^n x} dx = \frac{(p(s))^m}{-(q(s))^n} e^{-(q(s))^n} x = \frac{(p(s))^m}{(q(s))^n}$$

2.3 Examples:

$$g - g(e^{ax}) = (p(s))^m \int_0^\infty e^{-(q(s))^n x} e^{ax} dx$$

$$= (p(s))^m \int_0^\infty e^{-(q(s)^n - a)x} dx$$

$$= \frac{(p(s))^m}{-(q(s)^n - a)} e^{-(q(s)^n - a)x} \bigg|_0^\infty = \frac{(p(s))^m}{(q(s)^n - a)}$$

2.4 Example:

$$g - g(x) = (p(s))^m \int_0^\infty e^{-(q(s))^n x} x dx$$

$$= (p(s))^m \left[\frac{1}{(q(s))^n} x e^{-(q(s))^n x} - \frac{1}{(q(s))^{2n}} e^{-(q(s))^n x} \right]_0^\infty = \frac{p(s)^m}{(q(s))^{2n}}$$

2.5 The following table explain g-g-transformation for some selected functions

NO	Function f(x)	g - g(f(x))	Condition
1	x ^k	$\frac{(p(s))^{m}k!}{(q(s))^{(k+1)m}}$	Re(q(s)) > 0
2	sinax	$\frac{a(p(s))^{m}}{(q(s))^{2n} + a^{2}}$	Re(q(s)) > 0
3	cosax	$\frac{(p(s))^{m}(q(s))^{n}}{(q(s))^{2n}+a^{2}}$	Re(q(s)) > 0
4	sinhax	$\frac{(p(s))^{m}a}{(q(s))^{2n}-a^{2}}$	$\left \operatorname{Re}(q(s))\right > \sqrt[n]{a}$

3. g-g-transform of Differentiation

3.1 Theorem:

Let f be a continuous function on $[0, \infty[$ and g - g(f(x)) = g - g(s), q(s) = s, n=1, where s is a positive constant then

$$\frac{d^k}{ds^k} g - g(f(x)) = \frac{(-1)^k}{(p(s))^m} \sum_{i=0}^k C_i^k (-1)^i (p(s))^{(i)} g - g(x^{k-i} f(x))$$

where C_i^k is combonation of k, i

Proof:

$$g - g(f(x)) = (p(s))^m \int_0^\infty e^{-(q(s))^n x} f(x) dx , G(f(x))|_{q(s)=s} = (p(s))^m \int_0^\infty e^{-sx} f(x) dx$$

Then by using (Leibniz formula) we get:

$$\frac{d^k}{ds^k} g - g(f(x)) = \sum_{i=0}^k C_i^k (p(s))^m ^{(i)} (\int_0^\infty e^{-sx} f(x) dx)^{(k-i)}$$

Now we note:

$$\left(\int_{0}^{\infty} e^{-sx} f(x) dx\right)^{(k-i)} = (-1)^{k-i} \int_{0}^{\infty} x^{k-i} e^{-sx} f(x) dx$$

$$= \frac{(-1)^{k-i}}{\left(p(s)\right)^{m}} g - g\left(x^{k-i} f(x)\right)$$
Thus,
$$\frac{d^{k}}{ds^{k}} g - g(f(x)) = \sum_{i=0}^{k} C_{i}^{k} \left(\left(p(s)\right)^{m}\right)^{(i)} \frac{(-1)^{k-i}}{\left(p(s)\right)^{m}} g - g\left(x^{k-i} f(x)\right)$$

$$\frac{d^{k}}{ds^{k}} g - g(f(x)) = \frac{(-1)^{k}}{\left(p(s)\right)^{m}} \sum_{i=0}^{k} C_{i}^{k} (-1)^{i} (p(s))^{(i)} g - g\left(x^{k-i} f(x)\right)$$

3.2 Example:

Find
$$g - g(xe^x)$$
, such that $p(s) = s^2$, $m = n = 1$, $q(s) = s$, $f(x) = e^x$

We note that k = 1

$$\frac{d}{ds} g - g(e^x) = \frac{(-1)^1}{s^2} \sum_{i=0}^1 C_i^k (-1)^i (s^2)^{(i)} g - g(x^{1-i} e^x)$$

$$= -2 \left[\frac{1}{2} g - g(xe^x) - s^{-1} g - g(e^x) \right] = \frac{d}{ds} (g - g(e^x)).$$

$$Then, 2 s^{-1} g - g(e^x) - G(xe^x) = \frac{d}{ds} (g - g(e^x))$$

$$2 \frac{s}{s-1} - g - g(xe^x) = \frac{d}{ds} \left(\frac{s^2}{s-1} \right)$$

Thus,
$$g - g(xe^x) = \frac{2s}{s-1} - \frac{2s(s-1) - s^2}{(s-1)^2}$$
$$= \frac{2s(s-1) - 2s^2 + 2s - s^2}{(s-1)^2}$$
$$g - g(xe^x) = \frac{2s^2 - 2s - 3s^2 + 2s}{(s-1)^2} = \frac{-s^2}{(s-1)^2}$$

3.2 Example:

Find
$$g - g(x^2 \sin x)$$
, such that $p(s) = s$, $m = 2$, $n = 1$, $q(s) = s$

We note
$$k = 2$$
, $f(x) = sinx$

First we find $g - g(\sin x)$

that means, k = 1

$$\frac{d}{ds} g - g(f(x)) = \frac{(-1)^1}{s^2} \sum_{i=0}^{1} C_i^k (-1)^i (s^2)^{(i)} g - g(x^{1-i} \sin x)$$

$$[-g - g(x \sin x) + s^{-1}g - g(\sin x)] = \frac{d}{ds} (g - g(\sin x))$$

$$\frac{2}{s} \frac{s^2}{s^2 + 1} - g - g(x \sin x) = \frac{d}{ds} \left(\frac{s^2}{s^2 + 1}\right) = \frac{2s(s^2 + 1) - 2s^3}{(s^2 + 1)^2}$$

$$= \frac{2s^3 + 2s - 2s^3}{(s^2 + 1)^2} = \frac{2s}{(s^2 + 1)^2}$$
Thus, $g - g(x \sin x) = \frac{2s}{s^2 + 1} - \frac{2s}{(s^2 + 1)^2} = 2s\left(\frac{s^2 + 1 - 1}{(s^2 + 1)^2}\right) = \frac{2s^3}{(s^2 + 1)^2}$

Second, we take k = 2

$$g - g(x^{2}\sin x) - 4s^{-1}\frac{2s^{3}}{(s^{2} + 1)^{2}} + 2s^{-2}\frac{s^{2}}{s^{2} + 1} = \frac{2(1 - 3s^{2})}{(S^{2} + 1)^{3}}$$

$$Thus, g - g(x^{2}\sin x) = \frac{8s^{2}}{(s^{2} + 1)^{2}} - \frac{2}{s^{2} + 1} + \frac{2(1 - 3s^{2})}{(s^{2} + 1)^{3}}$$

$$= \frac{2s^{2}(3s^{2} - 1)}{(s^{2} + 1)^{3}} = \frac{2s^{2}(3s^{2} - 1)}{(s^{2} + 1)^{3}}$$

4. g-g- transform of integration

4.1 Theorem

Let f(x) be a piecewise function, where $x \in [0, \infty]$ and $|f(x)| \le Me^{kx}$ and g - g(f(x)) = g - g(s) exists then

$$f(x) = g - g^{-1} \left(\frac{1}{(q(s))^n} g - g(f'(x)) \right) + f(0),$$

where (') denoted the derivative

Proof:

Since
$$g - g(f(x)) = (p(s))^m \int_0^\infty e^{-(q(s))^n x} f(x) dx$$

$$= (p(s))^m \left(\frac{-f(x)}{(q(s))^n} e^{-q(s)x}|_0^\infty + \frac{1}{(q(s))^n} \int_0^\infty e^{-(q(s))^n x} f'(x) dx\right)$$

$$= \frac{(p(s))^m}{(q(s))^n} \int_0^\infty e^{-(q(s))^n x} f'(x) dx + \frac{(p(s))^m}{(q(s))^n} f(0),$$
Then, $f(x) = g - g^{-1} \left(\frac{(p(s))^m}{(q(s))^n} \int_0^\infty e^{-(q(s))^n x} f'(x) dx\right) + f(0)$

$$= g - g^{-1} \left(\frac{1}{(q(s))^n} g - g(f'(x))\right) + f(0)$$

$$g - g^{-1} \left(\frac{1}{g(s)} g - g(f'(x))\right) = f(x) - f(0)$$

4.2 Example

Let
$$p(s) = s, m = 2$$
 and $q(s) = s, n = 3$

Find
$$g - g^{-1} \left(\frac{1}{s(s^3 + 1)} \right)$$

Solution:

$$g - g^{-1} \left(\frac{1}{s(s^3 + 1)} \right) = g - g^{-1} \left(\frac{1}{s^3} \frac{s^2}{(s^3 + 1)} \right)$$
, and

$$g - g(f'(x)) = \frac{s^2}{s^3 + 1}$$

Since
$$g - g(e^{-x}) = \frac{s^2}{s^3 + 1}$$
 thus $f'(x) = e^{-x}$

$$f(x) = \int e^{-x} dx = -e^{-x}$$

$$f(0) = -e^0 = -1$$
, $G^{-1}\left(\frac{1}{s(s^3+1)}\right) = -e^{-x} + 1$

4.3 Example:

Take p(s) = s, m = 1, q(s) = s, n = 2 and

Find
$$g - g^{-1} \left(\frac{1}{s(s^4 + 1)} \right)$$

Solution:

$$g - g^{-1} \left(\frac{1}{s(s^4 + 1)} \right) = g - g^{-1} \left(\frac{s}{s^2} \frac{1}{s^4 + 1} \right)$$

Since

$$g - g(\sin x) = \frac{s}{s^4 + 1}$$
 this implies that $f'(x) = \sin x$

$$f(x) = \int \sin x \, dx = -\cos x$$
, $f(0) = -\cos 0 = -1$

$$g - g^{-1} \left(\frac{1}{s(s^4 + 1)} \right) = -\cos x + 1$$

5. Conclusion:

In this paper we find the general formula for finding the inverse of the g-g-transformation by using g-g-transformation for derivative of the function and then finding it by integration. Also we get g-g-transformation for some function as form $x^n f(x)$ by using g-g-transformation of the terms $x^k f(x)$; k = 0,1,...,n-1.

References

[1] A.H Mohammed and N. Atyiah ,2018, ALzughair Transform of Differentiation and International Journal of engineering &Technology , 7(3),pp184-188.

[2]A.H Mohammed and A.N.Kathem, 2008, Solving Euler's Equation by using New Transformation, Journal kerbala University, 6(4).

- [3] A.N. Albukhuttar and I.H.Jaber, 2019, Elzaki transformation of linear equation without Subject to any initial conditions, Journal of AdvancedResearch in Dynamical and control Systems, 11(2).
- [4] B.Goodwine, 2010, Engineering Differential Equation: Theory and Application, Springer, New York, USA.
- [5] D. Anju, et al, 2017, Solution of Ordinary Differential Equation with Variable coefficients Using Elzaki Transform, Asian Journal of Applied Science and Technology, 1(9), pp. 186-194.
- [6] D.P.G., 2001, An Introduction to Laplace Transforms and Fourier Series, Spring, Verlag London Limited.
- [7] H.Jafari , 2020, A new general integral transform for solving integral equation , Journal of Advanced Research xxx (xxxx) xxx (in press).
- [8] H. Eltayeb, 2017, A note on double Laplace decomposition method and nonlinear partial differential equation, New Trends in Mathematical Sciences, 5(4).
- [9] H. Jafari, A new general integral transform for solving integral equations, Journal of Advanced Research, 32(2021), pp. 133-138.
- [10] M.E.Tarig , 2011, The new integral transform , Elzaki Transform , Global Journal of pure and applied Mathematics , 2(1), pp. 57-64 .
- [11] N. Gabriel, 2015, Ordinary Differential Equations, Mathematics Department, Michigan State University, 16(6),pp. 123-143.